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f' PART A: Vocabulary

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence. |
| Then mark your answer on the answer sheet. '

1-  The board agreed to ----------- two commitiees to examine the proposals.
1) distinguish 2) generale 3) establish 4) attribute
2-  The Red Cross organized the --------- of food and clothing in the disaster area.
1} distribution 2) application 3) integration 4) implementation
3- A high ----—-—-- of the products tested were found to contain harmful chemicals.
[} contribution 2) proportion 3) dimension 4) resolution
4-  Theslight difference in the way men and women are affected by the drug is not really --—----—-.
1) intrinsic 2) contrary 3) predominant 4) significant
5-  The schedule isn’t final, but we don’t -----—--- many changes.
1) estimate 2) anticipate 3) conduct 4) allocate
6-  They ------ --- principles of international law to claim ownership of the sunken ship.
1) invoked 2) promoted 3) induced 4) derived
7-  The program allows learners to ~—------— - their own interests as well as do their school work.
1) attain 2) retain 3) display 4) pursue
8-  Continued economic growth is a danger to the environmental --------- of the planet.
1) assurance 2) stability 3) convention 4) conformity
9-  During the last one hundred years, —---—------ every aspect of life has been westernized.
1) conversely 2) primarily 3) virtually 4) redundantly
10- U.N. officials have called for extra financial --------— to deal with the emergency.
1) resources 2) circumstances 3) parameters 4) initiatives
PART B: Grammar
| Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your answer on your answer sheet.

Everyone brings some kind of power to the negoliating table. It’s easy to be awed (11) ----------- external
sources of power and influence while (12) --------- such internal sources of your own power (13} -------—-
your self-esteem, self-knowledge and confidence (14) --------- fast on your feet. Power in a negotiation can
be very dynamic. Be patient and your own store of internal power (15) ---------- to your advantage.

11- 1) for 2) with 3) by 4) from

12- 1) overlooking 2) to overlook 3) be overlooking 4) being overlooked
13- 1of 2) as 3) like 4) about

14- 1) you think 2) so thinking 3) to think 4) as you are thinking

15- 1) being working 2) is working 3) is to work 4) will work
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PART Redin umprehesiun =

i Directions: Read the following three passages and answer the questions by choosing the best |
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet. i

PASSAGE 1:

Forms of idealism were prevalent in philosophy from the 18th century to the early 20th
century. Transcendental idealism, advocated by Immanuel Kant, is the view that there are
limits on what can be understood, since there is much that cannot be brought under the
conditions of objective judgment. Kant wrote his Critique of Pure Reason (1781-1787) in an
attempt to reconcile the conflicting approaches of rationalism and empiricism, and to establish
a new groundwork for studying metaphysics. Kant's intention with this work was to look at
what we know and then consider what must be true about it, as a logical consequence of, the
way we know it. One major theme was that there are fundamental features of reality that
escape our direct knowledge because of the natural limits of the human faculties.  Although
Kant held that objective knowledge of the world required the mind to impose a conceptual or
categorical framework on the stream of pure sensory data - a framework including space and
time themselves - he maintained that things-in-themselves existed independently of our
perceptions and judgments; he was therefore not an idealist in any simple sense. Indeed,
Kant's account of things-in-themselves 1s both controversial and highly complex. Continuing
his work, Johann Gottlieb Fichte and Friedrich Schelling dispensed with belief in the
independent existence of the world, and created a thoroughgoing idealist philosophy.

What type of idealism was supported by Kant?

1) Abnormal or superlative idealism

2) Extraordinary or surpassing idealism

3) The type of idealism which is beyond the limits of human experience
4) The type of idealism that is within the field of perception by the senses

Immanuel Kant wrote his Critique of Pure Reason (1781-1787) in an effort to --------—- of rationalism
and empiricism.

1) admit the harmonious methods 2) admit the applicable approaches

3) conciliate the agreeable approaches 4) conciliate the contradicting methods

According to Kant’s philosophy, there are primary characteristics of reality that ---------.

1) are beyond our knowledge due to the inherent restrictions of man’s capabilities

2) are within the reach of our knowledge because of the natural limits of human faculties

3) avoid our knowledge owing to certain acquired limits of human beings

4) bypass our knowledge thanks to certain received restrictions of mankind

Kant did NOT believe that ---------- ;

1) things-in-themselves in existence did not rely on our perception

2) things-in-themselves existed independently of our understandings and assessments

3) objective knowledge of the world necessitated the mind to imply a conceptual framework of pure
sensational data

4) objective understanding of the world required the mind to have a categorical framework of pure sensory
data

According to the passage, Johann Gottlieb ---------- .

1) created an incomplete idealist philosophy

2) got rid of belief in the autonomous existence of the world

3) came to believe in the self-reliant existence of the world

4) brought forth a brief account of philosophical idealism
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PASSAGE 2:

Skepticism is a philosophical attitude that questions the possibility of obtaining any sort of
knowledge. It was first articulated by Pyrrho, who believed that everything could be doubted
except appearances. Sextus Empiricus (1st century CE) describes skepticism as an "ability to
place in antithesis, in any manner whatever, appearances and judgments, and thus to come
first of all to a suspension of judgment and then to mental tranquility." Skepticism so
conceived is not merely the use of doubt, but is the use of doubt for a particular end: a
calmness of the soul, or ataraxia. Skepticism poses itself as a challenge to dogmatism, whose
adherents think they have found the truth.

Sextus noted that the reliability of perception may be questioned, because it is idiosyncratic 1o
the perceiver. The appearance of individual things changes depending on whether they are in
a group: for example, the shavings of a goat's horn are white when taken alone, vet the intact
horn 1s black. A pencil, when viewed lengthwise, looks like a stick; but when examined at the
tip, it looks merely like a circle.

Skepticism was revived in the early modern period by Michel de Montaigne and Blaise
Pascal. Its most extreme exponent. however, was David Hume. Hume argued that there are
only two kinds of reasoning: what he called probable and demonstrative (cf Hume's fork).

What is the kernel point in skepticism?

1) It questions the ways human beings can obtain knowledge.

2) 1t doubts the possibility of acquiring any type of science.

3) Everything could be doubted except conceptions and meanings.

4) Everything must be judged on the basis of mental calm.

According to the passage, the main goal of skepticism i$ —------——-- .

1) the use of doubt for a specific purpose, ataraxia

2) to reconcile the contradicting beliefs or situations

3) the use of knowledge for a particular end, calmness of the mind

4) to reconcile itself to dogmatism, whose advocates believe they have discovered the reality

Sextus mentioned that the ------=---- may be questioned, because it is idiosyncratic to the perceiver.
1) credibility of understanding facts 2) reliability of examining facts

3) independence of acquiring knowledge 4) quality of obtaining knowledge

The appearance of specific things like a pencil differs depending on --------- -

1) the reliability of perception 2) the independence of recognition

3) whether it viewed lengthwise or at the tip 4) whether it is in a group or it is taken alone
Michel de Montaigne and Blaise Pascal ----——---— skepticism.

1) criticized 2) gave a new life to 3) gave much importance to 4) re-examined
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PASSAGE 3:

Rationalism is any view emphasizing the role or importance of human reason. Extreme
rationalism tries to base all knowledge on reason alone. Rationalism typically starts from
premises that cannot coherently be denied, then attempts by logical steps to deduce every
possible object of knowledge.

The first rationalist, in this broad sense, is often held to be Parmenides (fl. 480 BCE), who
argued that it is impossible to doubt that thinking actually occurs. But thinking must have an
object, therefore something beyond thinking really exists. Parmenides deduced that what
really exists must have certain properties — for example, that it cannot come into existence or
cease to exist, that it is a coherent whole, that it remains the same eternally (in fact, exists
altogether outside time). Zeno of Elea (born c. 489 BCE) was a disciple of Parmenides, and
argued that motion is impossible, since the assertion that it exists implies a contradiction.

Plato (427-347 BCE) was also influenced by Parmenides, but combined rationalism with a
form of realism. The philosopher's work is to consider being, and the essence of things. But
the characteristic of essences is that they are universal.

Rationalism is any outlook which gives significance to ----------- g

1) man’s wisdom 2) man’s perception 3) human judgment 4) human understanding
Essentially rationalism begins from --—-----—- o

1) arguments which cannot be superficially denied

2) statements that may not be philosophically admitted

3) presuppositions that may not be thoroughly accepted

4) assumptions which cannot be logically refuted

Parmenides who is the first rationalist in its broadest meaning, -----------.

1) doubts that reasoning really occurs 2) believes in the imaginary existence of knowledge
3) believes in the actual existence of thinking 4) is certain that thought does not actually exist
Which statement is NOT true about the characteristics of an existing phenomenon?

1) It is-possible for it to come into being 2) It remains the same eternally

3) It is a consistent entirety 4) It can cease to exist

According to the passage, Plato (427-347 BCE) was also ---------- :

1) rejected by a type of idealism

2) dominated by a form of rationalism

3) influenced by Parmenides, but separated rationalism from realism

4) impressed by Parmenides, but integrated rationalism with a type of realism
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